log (L*)
log(L*) L*

CIELAB lightness

CIELAB lightness for all colours, L*

=100:
o = 1/3 W
L*cieLag = 116 ¥/Yy)

-16 {/,=100, Y>1)

-’
’
’

application
range

Y,=18

CIELAB-
log(AY) AY tristimulus value difference

L* cieLas = 116 (/Y,) - 16

CIELAB-tristimulus value difference
log(dY)= log( 3 (Y,/116) ) + (2/3) log{/Y,,)
= log(3(Y, /3/116) + (2/3) logy)

1
1Y,=18

X >
« Yn=4
1

log AY/Y)
log(Cy) C=(AaYlY)

CIELAB-
tristimulus value sensitivity

L cieLag = 116 V1Y)~ 16
CIELAB-tristimulus value sensitivity
log[(dY/Y) = log(3 (Y /3/116) - (1/3) logy

application

range

! log@dY/v)=-1,33 md_—o 033~ o
Y,=18, dY,=0,83 dY,/Y,=0, 0454 o

10
1

N
-

Y,=18

log (Y/AY)
log(S;) S=(Y/AY)
L*cieLag = 116 /1Y)~ 16
CIELAB-tristimulus value contrast
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Y,)
= log[(1/3) 116/¢, /] + (1/3) log(y)
i L*,=50, Y,=18, dY,=0,83 Y,/dY
P U e
§ log(v/dv=133 m=033,

CIELAB-
tristimulus value contrast

log (LH/L* )
7L

relative CIELAB lightness

relative normalized CIELAB data
CIELAB lightness for aII colours, L*yy
L*cieLag = 116 (/Y)Y

=100
®_16 {/,=100, Y>1)

! L* =50, Y,=18
| log[(L") /(L* )0, m=043 _
>
*
Yn=4

application
range

100

relative CIELAB-
tristimulus value difference

log(AY/AY,)
AYIAY,

L*cieLag =116 ¥/Y)" - 16
relative CIELAB-tristimulus value difference
log(dY)=log( 3 (¥,/116) ) + (2/3) log{/Yy)
= log(3(Y, "3/116) + (2/3) logy)

Y,=18 4Y,=0.83 dY,/Y,=0.0454
log[(dYY(dY,)]=0, m,=0,66
>
>

application
range
>
* Y\=4
1

100

log [(AY/Y) I AY /Y] relative CIELAB-
C/Cry =(BYIV)I(BYIY,) tistimulus value sensitivity

L* cieLap = 116 (/Y,) - 16

relative CIELAB-tristimulus value sensitivity
log(@dY/M/(dY,/Yy)] = log(YrY,) ™2

application
range

L
U Togl@YVY(@Y,/¥y)]=0, m=—0,33 1 ~ ==,
Y,=18, dY,=0,83 dY,/Y,=0,0454 |
Yn=4 (10 1Y, =18 )
i

log [(Y/AY) I (Y,/AY,)] relative CIELAB-
log(S,) S,/S,U=(Y/AY)/(Yu/AYu)[iSﬁmums value contrast

L* cieLas = 116 (/Y,) - 16

relative CIELAB-tristimulus value contrast
10g[(Y/AY)/(Y/AY,)] = log(Y/Y)Y®
L* =50, Y,=18, dY,=0,83

L* =50, Y,=18, dY,=0,83 Y,/dY =21
log[(Y/dYY(Y,/dY,)]=0, m,=0,33
-

: application
, range

100




